This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 13 Garscadden-Scotstounhill

8,629

4

1,726

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Bill BUTLER	Glasgow Labour	2,403
Chris CUNNINGHAM	Scottish National Party (SNP)	2,310
John HAMELINK	Scottish Greens - Delivering For Our Community	712
Malcolm MITCHELL	Scottish National Party (SNP)	460
Steven MORRISON	Scottish Conservative and Unionist	886
Eva Clark MURRAY	Glasgow Labour	940
Rosemary UGBAH	Scottish National Party (SNP)	745
Hugh Grenville WATERFIELD	Scottish Liberal Democrats	173
	Total	8,629

Candidate Bill BUTLER Elected with 2,403 votes, being in excess of the quota of 1,726 Candidate Chris CUNNINGHAM Elected with 2,310 votes, being in excess of the quota of 1,726

This report contains the transfers results.

Stage 2 - Surplus of Bill BUTLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John HAMELINK	124	0.28173	34.93452
Transfer to Malcolm MITCHELL	69	0.28173	19.43937
Transfer to Steven MORRISON	164	0.28173	46.20372
Transfer to Eva Clark MURRAY	1,769	0.28173	498.38037
Transfer to Rosemary UGBAH	20	0.28173	5.63460
Transfer to Hugh Grenville WATERFIELD	46	0.28173	12.95958
No further preference	211	0.28173	59.44503
Not transferred due to rounding			0.00281
	Total		677.00000

This report contains the transfers results.

Stage 3 - Surplus of Chris CUNNINGHAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John HAMELINK	217	0.25281	54.85977
Transfer to Malcolm MITCHELL	1,617	0.25281	408.79377
Transfer to Steven MORRISON	13	0.25281	3.28653
Transfer to Eva Clark MURRAY	56	0.25281	14.15736
Transfer to Rosemary UGBAH	279	0.25281	70.53399
Transfer to Hugh Grenville WATERFIELD	12	0.25281	3.03372
No further preference	116	0.25281	29.32596
Not transferred due to rounding			0.00890
	Total		584.00000

This report contains the transfers results.

Stage 4 - Exclusion of Hugh Grenville WATERFIELD

Otage + Excidenci of Hagir Ofchille With Ettille			100.55000
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John HAMELINK	42	1.00000	42.00000
Transfer to Malcolm MITCHELL	9	1.00000	9.00000
Transfer to Steven MORRISON	28	1.00000	28.00000
Transfer to Eva Clark MURRAY	52	1.00000	52.00000
Transfer to Rosemary UGBAH	8	1.00000	8.00000
Transfer to John HAMELINK	4	0.28173	1.12692
Transfer to Malcolm MITCHELL	1	0.28173	0.28173
Transfer to Steven MORRISON	8	0.28173	2.25384
Transfer to Eva Clark MURRAY	26	0.28173	7.32498
Transfer to John HAMELINK	1	0.25281	0.25281
Transfer to Malcolm MITCHELL	3	0.25281	0.75843
Transfer to Steven MORRISON	1	0.25281	0.25281
Transfer to Eva Clark MURRAY	2	0.25281	0.50562
Transfer to Rosemary UGBAH	1	0.25281	0.25281
No further preference	34	1.00000	34.00000
No further preference	7	0.28173	1.97211
No further preference	4	0.25281	1.01124
Not transferred due to rounding			0.00000
	Total		188.99330

This report contains the transfers results.

Stage 5 - Exclusion of Rosemary UGBAH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John HAMELINK	86	1.00000	86.00000
Transfer to Malcolm MITCHELL	597	1.00000	597.00000
Transfer to Steven MORRISON	2	1.00000	2.00000
Transfer to Eva Clark MURRAY	32	1.00000	32.00000
Transfer to John HAMELINK	3	0.28173	0.84519
Transfer to Malcolm MITCHELL	4	0.28173	1.12692
Transfer to Eva Clark MURRAY	10	0.28173	2.81730
Transfer to John HAMELINK	29	0.25281	7.33149
Transfer to Malcolm MITCHELL	229	0.25281	57.89349
Transfer to Steven MORRISON	1	0.25281	0.25281
Transfer to Eva Clark MURRAY	4	0.25281	1.01124
No further preference	36	1.00000	36.00000
No further preference	3	0.28173	0.84519
No further preference	17	0.25281	4.29777
Not transferred due to rounding			0.00000
	Total		829.42140

This report contains the transfers results.

Stage 6 - Exclusion of John HAMELINK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Malcolm MITCHELL	393	1.00000	393.00000
Transfer to Steven MORRISON	29	1.00000	29.00000
Transfer to Eva Clark MURRAY	226	1.00000	226.00000
Transfer to Malcolm MITCHELL	21	0.28173	5.91633
Transfer to Steven MORRISON	11	0.28173	3.09903
Transfer to Eva Clark MURRAY	52	0.28173	14.64996
Transfer to Malcolm MITCHELL	156	0.25281	39.43836
Transfer to Steven MORRISON	4	0.25281	1.01124
Transfer to Eva Clark MURRAY	24	0.25281	6.06744
No further preference	192	1.00000	192.00000
No further preference	47	0.28173	13.24131
No further preference	63	0.25281	15.92703
Not transferred due to rounding			0.00000
	Total		939.35070